Retrieval questions
	The ratio of males to females at a sports club is 2:7.  
[bookmark: _GoBack]There were 	65 more females than males.  How many people attend the club in total?

	




	Point E has the co-ordinates (2, 6) and point F (7, 20).  
Find the distance EF











	The length of the rectangle is twice as long as the width.  
The perimeter is 51cm.  Find the area in cm2.










	There are four people in a group.  
· Geoff is 5 years younger than Ellen
· Ellen is 8 years older than Frank.
· Helen is twice as old as Ellen.	
· Altogether their ages add to 137.  
Find the age of each person.














